| Efficiency vs Dxy |

0.2
<

yo : : :
.18 it
Z ool
B.16]
k= S
K e A
© o : :
0,12 irreriveie
.
.08
0064
0.08f b
0,024

.................................................

.................................................

0_||||;

Ratio

...................................

—25-20-15-10 =5 0

| Efficiency vs Dz |

TP dxy (cm)

—=— DQMstep3_SoftQCD_CKF
—e— DQMstep3_SoftQCD_default

N 0.5
o

D45 §
2 . .

B
O N H
=01 R T
o : :
0.3 i
0,25t

V] R S

......................

—— DQMstep3_SoftQCD_defaultNEWT3

.O'ff;*'%i‘ "

TP dz (cm)




	Contents
	Page 1


